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Which one of the matchings below is incorrect?
(Asagidaki eslestirmelerden hangisi yanlistir?)

A
B
C
D

~

25/12/2015 - the twenty-fifth of December, two thousand fifteen
16/03/2012 — the sixteenth of March, two thousand twelve
03/09/1998 - the third of September, nineteen ninety-eight
12/10/ 2004 - the twelfth of November, two thousand four

~— ~— ~—

Nutritious Food Fast Food
Cheese French fries
Grilled meat Home-made jam
Fried chicken Fried eggs

Mushroom soup Chocolate

Which ones of the two kinds of food are on the incorrect list according to the given titles?
(Verilen bagliklara gbre hangi iki yiyecek tiirt listeye yanlis yerlestiriimistir?)

A
B
C
D

Rt

Fried chicken - French fries
Mushroom soup - Boiled eggs
Fried chicken - Home-made jam
Cheese - Chocolate

~— ~— ~—

A. Atownis 1. more bigger than a town.

B. A city is 2. more taller than a house.

C. A skyscraper is 3. more peaceful than a big city.
D. A city centeris 4. more busier than a town.
Which one of the matchings below is correct?
(Asagidaki eslestirmelerden hangisi dogrudur?)

A)A-3 B)B- 1 C)C-2 D)D-4
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Kylie : are you going?

Jenny :I'm going

Which one below does not complete the dialogue correctly?
(Asagidakilerden hangisi diyalogu dogru tamamlamaz?)

A) When / in the morning B) Where / to the cinema
C) How often / to school D) What time / at 4 o’clock

Kenan : What do you think about roller coasters?

Kivang: | love roller coasters. | think they are

Which one below cannot complete the dialogue correctly”
(Asagidakilerden hangisi diyalogu dogru tamamlamaz?)

A) fantastic B) thrilling C) amazing D) dull

6. A. Mydadlikes  1.insummer in izmir.

B. | always 2. swimming in Cesme.
C. Itis snowy 3. riding the roller coaster.
D. We love 4. drive a car.

Which one of the matchings below is correct?
(Asagidaki eslestirmelerden hangisi dogrudur?)

A)A-4 B)B-2 C)C-1 D)D-3

We are at a Mexican restaurant right now. We a nice meal. We're having tacos. They’re
so chili and I love chili food. The waiter us some drinks. The restaurant is very
crowded because it’s a popular one. We the people around us. They are all enjoying
their meals.

Which one below completes the sentences correctly?
(Asagidakilerden hangisi climleleri dogru tamamlar?)

A) are eating / is giving / are seeing B) are having / is serving / are looking
C) are eating / is having / are talking D) are having / is serving / are watching
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(Answer questions 8 and 9 according to the table below.)
(8 ve 9. sorular agagidaki tabloya gére cevaplayin.)

Bora difficult boring exciting

Karen challenging enjoyable interesting

8. Both Karen and Bora think,

A) being a gardener is not enjoyable B) being a firefighter is interesting

C) being a fashion designer is a boring job D) being a firefighter is not an easy job
9. Bora thinks is not enjoyable, but Karen thinks it is

A) being a gardener / enjoyable B) being a firefighter / not easy

C) being a fashion designer / fun D) being a fashion designer / boring

10.

It’s the Victory Day in Turkey today so it’s the
Which one below completes the sentence correctly?
(Asagidakilerden hangisi climleyi dogru tamamlar.)

A) twenty-third of April B) thirtieth of August
C) twenty-ninth of October D) nineteenth of May
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1. My sister leaves school at quarter to five. She arrives home at quarter past five and rests until half
past six.
Which one below does not change the meaning of the underlined words in the sentence?
(Asagidakilerden hangisi ciimledeki alti ¢izili ifadelerin anlamini degistirmez?)

A) 17:45/18:15/18:30 B) 16:45/18:15/18:30

C) 17:45/18:15/ 18:45 D) 16:45/17:15/18:30
2. A. Scrambled 1. meat

B. Grilled 2. tea

C. Turkish 3. eggs

D. Fried 4. sugar

Which one of the matchings below is incorrect?
(Asagidaki eslestirmelerden hangisi yanligtir?)

A)A-3 B) B -1 C)C-2 D)D-4

3. In my family, my birthday is on the sixteenth of March, my mother’s birthday is on the twenty-first
of May, my father’s birthday is on the third of June and my sister’s birthday is on the thirtieth of
January.

Which one below does not change the meaning of the underlined words in the sentence?
(Asagidakilerden hangisi cimledeki alti ¢izili ifadelerin anlamini degigtirmez?)

A) 6" /21 /13" / 30" B) 16"/ 21° /3 /30"
C)e"/ 11"/ 34/ 31 D) 16" /21 /13" /30"

When do you take the train?
Which one below is not the correct answer of the question?
(Asagidakilerden hangisi sorunun dogru cevabi degildir?)

A) On Sunday morning. B) In winter.
C) At 5 o’clock. D) It is sometimes late.
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In this weather, the sun is always in the sky. It is hot so you can wear your T-shirt, shorts and
sandals. You can go swimming, too.

Which one below is the season mentioned in the given sentences?
(Clmlelerde ifade edilen mevsim asagidakilerden hangisidir?)

A) Autumn B) Summer C) Winter D) Spring

is the Republic Day in Turkey. It is a very important day for Turkish people.
Which one below completes the sentence correctly?
(Asagidakilerden hangisi climleyi dogru tamamlar.)

A) The 23" of April B) The 19" of May
C) The 29™ of October D) The 30" of August

%" Topkapi Palace .-’! Ephesus
I} ; Il. .
® Istanbul Izmir
" Troy " Mount Nemrut
' | Canakkale ' Agn

Which one of the matchings below is incorrect?
(Asagidaki eglestirmelerden hangisi yanlistir?)

Al B) Il o) il D) IV
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8. A. February 1. the eighth month of the year

B. August 2. the second month of the year
C. December 3. the twelfth month of the year
D. January 4. the seventh month of the year

Which one of the matchings below is incorrect?
(Asagidaki eslestirmelerden hangisi yanligtir?)

A)A-2 B)B-1 C)C-3 D)D-4

— water pollution I. — air pollution

— exhaust fumes — throw away rubbish

Wich one of the matchings below is incorrect?
(Asagidaki eglestirmelerden hangisi yanlistir?)

Al B) Il o) il D) IV

(Gérselde ifade edilen mevsim asagidakilerden hangisidir?)

A) sunny but windy B) cloudy and rainy
C) rainy and foggy D) snowy but warm
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I. Jane goes to the gym regularly because she is and she wants to lose weight.
Il. Amanda is a bit that’s why she is on a diet.
Ill. My brother is because he eats fast food regularly.
Which one below completes all of the numbered sentence correctly?
(Asagidakilerden hangisi numaralandirilmig climlelerin tamamini dogru tamamlar?)

A) plump B) slim C) thin D) fit

() My best friend Maria is a beautiful girl. (Il) She is tall and slim. (lll) She has big blue eyes and
curly brown hair. (IV) She has a lovely smile. (V) She is very generous so she hates sharing her
belongings with her family and friends. (VI) She is a cute and friendly young girl.

Which one of the numbered sentences is incorrect in the given paragraph?

(Verilen paragraftaki numaralandirilmis ciimlelerden hangisinde yanlig bilgi verilmektedir?)

Al B) Ill C) IV D)V

My sister can play basketball well because
Which one below does not complete the sentence correctly"
(Asagidakilerden hangisi climleyi dogru tamamlamaz?)

A) she is taller than me B) she is slimmer than me
C) she is fatter than me D) she is faster than me
I. punctual a. someone who always arrives at a certain place on time
II. selfish b. intelligent, clever
Ill. generous c. someone who only thinks of and cares about herself
IV. smart d. someone who likes sharing everything with other people

Which one below is the correct matching of the given words and their definitions?
(Asagidakilerden hangisi verilen s6zctiklerin ve tanimlarinin dogru eslestirmesidir?)

A) l-b/Ill-c/lli-d / IV-a B) I-c/ll-a/lll-d / IV-b
C) l-a/ll-c/lll-d / IV-b D)I-d/ll-c/lll-b/IV-a
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(Answer questions 5-8 according to the table below.)
(5-8. sorulari asagidaki tabloya gére cevaplayin.)

Name Personality Result
Alexandra shy can’t make friends easily
Jennifer easy-going
Michael generous loves sharing everything with other people
Samuel friendly has many friends at school
Samantha honest
Miranda arrives everywhere on time

5. Which one below completes the table correctly for Miranda?

A) She is an unfriendly person.
B) She is an outgoing person.
C) She is a punctual person.
D) She is a selfish person.

6. Which one below completes the table correctly for Jennifer?

A
B
C
D

Rt

She gets on well with everyone.

She has a bad relationship with everyone.
She never tells the truth to her friends.

She only thinks of herself, not other people.

~— ~— ~—

7. Which one below completes the table correctly for Samantha?

A
B
C
D

Rt

She is not good at making new friends.
She never tells the truth to anyone.
She is always late to school.

She never tells lies to anyone.

~— ~— ~—
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10.

BlokTest / Kilavuz 4 7. SINIF DENEME -3

Which one below is incorrect according to the table?
(Tabloya g6re asagidakilerden hangisi yanlistir?)

A) Miranda is a punctual person.

B) Alexandra can’t meet new people easily.

C) Michael likes buying and giving gifts to his friends.

D) His friends don’t like Samuel because he is not friendly.

Which one of the matchings of the opposite adjectives below is correct?
(Asagidaki zit anlamii sifat eglestirmelerinden hangisi dogrudur?)

rude x impolite attractive x ugly

Je—

generous x easy-going sociable x outgoing

|. apperarance: the physical looks of a person

Il. outgoing: someone who enjoys socializing and spending time with other people
Ill. medium-weight: not very fat or slim
IV. medium-height: very short, not tall
Which one of the numbered words and their definitions is incorrect?
(Numaralandirilimis sézctklerden ve tanimlarindan hangisi yanlistir?)

A)l B) Il ol D) IV
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Appearance:

* medium-height
* well-built

e thin

Which one below completes the table correctly?
(Asagidakilerden hangisi tabloyu dogru tamamlar?)

A) stingy B) skinny C) shy D) punctual

Personality:

* clumsy
 outgoing
* selfish

Which one below completes the table correctly?
(Asagidakilerden hangisi tabloyu dogru tamamlar?)

A) punctual B) fat C) overweight D) tall

3. My best friend Jackie is a very easygoing and friendly person. She also likes sharing everything
with the people around her. She likes buying gifts to them. She is so
Which one below completes the sentence correctly?
(Asagidakilerden hangisi ctimleyi dogru tamamlar?)

A) generous B) stingy C) clumsy D) happy

Andrea has long, hair and big round eyes. She has a lovely
smile, too.

Which one below completes the sentence correctly?
(Asagidakilerden hangisi ctimleyi dogru tamamlar?)

A) curly B) wavy
C) straight D) short
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Jamie is his brother Mike. He is good at playing
basketball.

Which one below completes the sentence correctly?
(Asagidakilerden hangisi climleyi dogru tamamlar?)

A) more taller B) taller
C) tall than D) taller than

Miranda is a successful businesswoman. She works on her computer all day long and she wears

Which one below completes the sentence correctly?
(Asagidakilerden hangisi ctimleyi dogru tamamlar?)

A) glasses
C) a glasses

Paula has

B) glass
D) sunglasses

hair and a lovely smile. She is a nice and friendly lady.

Which one below completes the sentence correctly?
(Asagidakilerden hangisi climleyi dogru tamamlar?)

A) red / curly

C) short / wavy

7. SINIF DENEME - 4
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8. Which one of the opposite matchings given below is correct?
(Asagida verilen zit s6zclik eslestirmelerinden hangisi dogrudur?)

A) attractive x beautiful B) easy-going x outgoing
C) plump x slim D) honest x generous

(Answer questions 9 and 10 according to the paragraph below.)
(9 ve 10. sorulari agagidaki paragrafa gére cevaplayin.)

A person who likes helping everyone and sharing everything is a helpful and generous person.
However, a person who only thinks of himself is a selfish person. It is important to be generous
in a friendship because friendship means helping each other in difficult times and sharing
everything with each other. It is not easy to be real friends with selfish people.

9. In areal friendship, it is important to be
Which one below completes the sentence correctly?
(Asagidakilerden hangisi climleyi dogru tamamlar?)

A) only generous B) selfish
C) both generous and helpful D) only helpful

10. Selfish people .
Which one below completes the sentence correctly?
(Asagidakilerden hangisi climleyi dogru tamamlar?)

A) are not easy to become friends with

B) can be real friends

C) always think of other people

D) like sharing everything with their friends
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